
Exercice diviser pour partager

92 = (9 × .......) + 2 

50 = (5 × .......)

16 = (8 × .......)

22 = (3 × .......) + 1

108 = (10 × .......) + ........ 

58 = (8 × .......) + ...... 

13 = (3 × .......) + ....... 

46 = (8 × .......) + ...... 

54 = (5 × .......) + ........ 

18 = (9 × .......) 

60 = (25 × .......) + ..... 

60 = (6 × .......)  

60 = (8 × .......) + ..... 

21 = (2 × .......) + ..... 

88= (9 × .......) + ...... 

33 = (5 × .......) + ...... 

Complète chaque division (tu peux t'aider de tes tables de
multiplication).   


